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EXNMXREHEE
(B HERA)
# B ¥ H & R E & = £ wm =
(IR 2 o )
1 5% L = 10,000,000 11,303,600 1,303,600
7TE X B A% 0
8 BRI EXBAS 0
9 % IR gy 0
) S~ 1 10,000,000 10,000,000
(B H o &)
1= 5 & B & 0 0
2 ?ﬁﬁj\%(u 737) 100,000 270,992 A 170,992
3 BRHEAE (DY) 60,000 24,310 35,690
4 i # = 42,107 41,541 566
5 3K A =1 137,500 104,500 33,000
6 A i & 5,000,000 5,743,285 A 743,285
T K R OB 633,120 633,120 0
8 X 53 & 0
9 % i} =1 100,000 78,989 21,011
WE E + A & 280,000 242,688 37,312
11 &) = # 312,365 221,675 90,690
12 @ & & 15,000 13,572 1,428
13 # & 20,000 47,552 A 27552
MEX—f A& 12,000 540 A 2540
Bvh 3 * 7 101,198 198 0
s L F Y 19,360 360 0
178 8 B R K 165,640 380 5,260
18 E & R F 151,835 282,176 A 130,341
& B &t 6,998,290 7,999,878 A 1,001,588
I X # % _ 710 A 7999.878|
{ TREDOWNZEHE(RER)IEX.E EEZERORDBERET [ZHRY AN D,
LEOPRXEB(FED)F. & EEBEERORKDERT hoIET 2.
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(v % BA 0 &= GREH) (BT HERA)
i B i} ES FEBE | REBE | = £ |No
1) EEE 10000000 11,303,600 1,303,600
& E 10,000,000 11,303,600 1,303,600
(% A B @ & GRER) (B HERR)
i B @ B i = FHEHE | REE 2 E |No
1) SIBHRER 0 0
N B 0 0 0
2 ) UhRUIEAE BB Yh—<ooTr 100,000 270992 A 170,992
N E 100,000 270,992| A 170,992
3 ) TUHARE bri} "J?)—ONE 60,000 24,310 35,690
I it 60,000 24,310 35,690
4 ) [RR#E RRE— ‘7’7137 42,107 41,541 566
LN B 42,107 41,541 566
6 ) NEE avnz #ar 3,400,000 3715010| A 315010
=} ¥ 1,600,000 2028275 A 428275
I it 5,000,000 5743285 A 743,285
7)) RRE IES SA474/R—>av 255,000 255,000 0
i aYFEL 320,000 320,000 320,000
=" IRRN—K 58,120 58,120 0
I it 633,120 633,120 0
8 ) RB#E E ‘ 0 0
n it 0 0 0
9 ) XEHE B5-EE ‘ﬁ‘/uy-%ﬁ-%‘ﬁ-%xiiﬁ 100,000 78,989 21,011
N it 100,000 78,989 21,011
10) BEHEAR bi] ‘E?E 280,000 242,688 37,312
I E 280,000 242,688 37,312
1) {RERH R TRERH 312,365 221,675 90,690
I E 312,365 221,675 90,690
5 ) RA®E RA RAE 137,500 104,500 33,000
I E 137,500 104,500 33,000
12 ) BIER &S EEEM 15,000 13,572 1,428
i E 15,000 13,572 1,428
13 ) M#E DLEWE |HER 26,000 47,552 A 21552
N H 26,000 47,552
14 ) EHR—/— SHAESR EHR—— 12,000 14,540 A 2540
i E 12,000 14,540 A 2540
15 ) h544 101,198 101,198 0
I B 101,198 101,198 0
16 ) HLIFY 19,360 19,360 0
I B 19,360 19,360 0
17) BBERKR 165,640 160,380 5,260
I B 165,640 160,380 5,260
18 ) RAERF 151,835 282,176] A 130,341
I B 151,835 282,176] A 130,341
Cl i 7,004,290 7,999,878 A 995588
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(B4 TRREE )
(Bfr:A HEBA)
BME | @8 | #E | ¥EHE | rEHm | =E | EHR-NE
(HBIEOD"‘B)
&t | | 10,000,000] 11,303,600] A 1,303,600]
(%Fﬁ@"‘fi)
SBRE BHE 0 0 0
yh<y ,E B 100,000 270,992 A 170,992| A RURBA v NI ANDT=8, TEEA DN HHoT=.
oy b 60,000 24,310 35,690
LRE TUET 42,107 41,541 566
RKAE R85 137,500 104,500 33,000
ANGEE  BE 5,000,000| 5,743,285 A 743285|(%%5E E/\wH40%, RUERETH IO FEABRBAEL =16
MmRXRE K& 633,120 633,120 0
REE R 0 0
X@EE H-FH 100,000 78,989 21,011
EE b 280,000 242,688 37,312
RigH MR 254,785 221,675 33,110
BIEE B 15,000 13,572 1,428
HE WHEME 26,000 47,552] A 21,552
¥2— HER 12,000 14540 A 2540|FEMNELLHT=1=8
hoFd 4 101,198 101,198 0
HLIFY 19,360 19,360 0
BBERE AL — 165,640 160,380 5260 {R[EFHE T T
MERE 151,835 282,176] A 130,341|iR;FEES B LYY £
7,999,878
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